
Solving a Rational Equation - Example 2

Example: Solve the equation:

Like Example 1 we can turn this into a polynomial problem.
We want to multiply 6

x−2 by (x − 2) and 7
x+3 by (x + 3)

So, we will multiply both sides by (x − 2)(x + 3), which can be
distributed to each term
On the left, we can reduce the fractions as we wanted.
On the right, we need to Disribute

Leaving us with the quadratic equation: 13x + 4 = 4x2 + 4x − 24
Subtracting 13x + 4 from both sides we get:

Conclusion: The solutions to 6
x−2 + 7

x+3 = 2 are: x = 4, −7
4
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